7889. What is the 90 percent distribution requirement applicable to REITs? 

In order to qualify for REIT tax treatment, a REIT is required to distribute 90 percent of its income each tax year.
 The calculation of the amount actually distributed is made by taking the sum of (a) 90 percent of the REIT taxable income (REITTI), determined without regard to the deduction for dividends paid and excluding capital gains and (b) 90 percent of the excess of net income from foreclosure property over the tax imposed on such income. Any excess noncash income is then subtracted.

Dividends paid within the tax year are taken into account in determining whether the distribution requirement is met, but there are two exceptions to this rule. First, if a REIT declares a dividend in October, November or December of one tax year, those dividends will be deemed to have been paid to the shareholders as of December 31 of that tax year, even if the REIT doesn’t actually pay them until January of the following year.
 

Second, if a REIT declares a dividend before its tax return is due (including extensions) and actually pays the dividend within the 12 month period following the close of its tax year (and not later than the date of the first regular dividend payment made after the declaration), then the REIT can elect to treat the dividend (or a portion thereof) as though it was paid in the prior tax year.
 The REIT must make the election in the tax return it files for the taxable year and it is irrevocable once made.
 If the REIT elects this treatment, the shareholder is not required to include the dividend in income until the year in which it is actually paid.
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